

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

---

**12. Acknowledgement of Submission of Forms from Current Bid Package\***

Bidders shall complete all documents and acknowledge all terms included with the bid package. All documents should be from this bid package as forms change frequently and the most updated forms are provided in this specification. The forms must not be dated or executed prior to the date of advertising. Failure to follow these instructions is cause for rejection.

Confirmed

**13. Submission of Bid Package\***

By submitting a response to this solicitation, the Vendor understands and acknowledges that all required documents to this solicitation must be submitted and that failure to do so may be cause for rejection.

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

**PRICE TABLES**

**ITEM #1 - CURRENT MODEL YEAR, OR NEWER, FORD F550 REGULAR CAB WITH STEEL DUMP BODY, AS SPECIFIED, OR EQUAL**

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
1	Current Model Year, or Newer, Ford F550 Regular Cab with Steel Dump Body As Specified, or Equal	20	EA	\$84,667.00	\$1,693,340.00		2026	180	3-year 36,000 bumper to bumper//5-year 100,000 powertrain	
<b>OPTIONS</b>										

## [ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
1A	Upgrade chassis to Super Cab chassis, retaining 60" Cab to Axle, As Specified	20	EA	\$2,601.00	\$52,020.00					
1B	Upgrade chassis to Crew Cab chassis, retaining 60" Cab to Axle, As Specified	20	EA	\$4,039.00	\$80,780.00					
1C	Upgrade to Regular Cab chassis with 84" Cab to Axle, As Specified or Equal	20	EA	\$300.00	\$6,000.00					
1D	Upgrade to Super Cab chassis with 84" Cab to Axle, As Specified or Equal	20	EA	\$300.00	\$6,000.00					
1E	Upgrade to Crew Cab chassis with 84" Cab to Axle, As Specified or Equal	20	EA	\$300.00	\$6,000.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid - MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

## [ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
1F	Fold Down Sides on Standard Dump Body, As Specified or Equal	20	EA	\$1,086.00	\$21,720.00					
1G	Stainless Steel Body Upgrade Dimensions, As Specified or Equal	20	EA	\$10,080.00	\$201,600.00					
1H	Stainless Steel Fold Down Sides for Stainless Steel Body Option, As Specified or Equal	20	EA	\$2,270.00	\$45,400.00					
1I	Body Paint Option for Stainless Steel Body Upgrade, As Specified or Equal	20	EA	\$3,965.00	\$79,300.00					
1J	Central Hydraulic System Hydraulic Pump, As Specified or Equal	20	EA	\$21,795.00	\$435,900.00					

## [ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
1K	Stainless Steel UTG Spreader General, As Specified or Equal	20	EA	\$8,446.00	\$168,920.00					
1L	Dump-Through Liftgate, As Specified or Equal	20	EA	\$9,318.00	\$186,360.00					
1M	I-Pack Tool Box, As Specified or Equal	20	EA	\$5,375.00	\$107,500.00					
1N	ProTech Aluminum I-Pack with Stainless Steel Doors PN # 20-2737, As Specified or Equal	20	EA	\$6,185.00	\$123,700.00					
1O	30" Under Body Tool Box, As Specified or Equal	20	EA	\$1,642.00	\$32,840.00					
1P	Stainless Steel V-Box General, As Specified or Equal	20	EA	\$31,311.00	\$626,220.00					

## [ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
1Q	Spreader Leg Stand Kit PN #3037295, As Specified or Equal	20	EA	\$5,251.00	\$105,020.00					
1R	Air Compressor, 70 CFM, As Specified or Equal	20	EA	\$16,296.00	\$325,920.00					
1S	Air Compressor, 150 CFM, As Specified or Equal	20	EA	\$20,713.00	\$414,260.00					
1T	Go-Lights, Model 30264, As Specified or Equal	20	EA	\$2,000.00	\$40,000.00					
1U	9' Readily Detachable Western Snow Plow System, As Specified or Equal	20	EA	\$7,821.00	\$156,420.00					
1V	Poly Electric Spreader Dimensions, As Specified or Equal	20	EA	\$7,685.00	\$153,700.00					

## [ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
1W	Special Paint Colors Not on the Standard Color Chart, As Specified or Equal	20	EA	\$2,770.00	\$55,400.00					
1X	Diagnostic Tools / Test Equipment, As Specified	3	SET	\$9,500.00	\$28,500.00					
1Y	Two-Way Radio Power and Wiring Requirements for New Vehicle, As Specified	20	EA	\$344.00	\$6,880.00					
1Z	Installation of County Supplied Two Way Radio and Accessories, As Specified	20	EA	\$1,350.00	\$27,000.00					
1AA	Technical Support, As Specified	180	HOUR	\$175.00	\$31,500.00					
TOTAL					\$5,218,200.00					

ITEM # 2 –CURRENT MODEL YEAR, OR NEWER, FORD F550 REGULAR CAB WITH 9 FOOT UTILITY BODY, AS SPECIFIED, OR EQUAL